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Number of Customer
(NC)/Day 8 10 12 14
Prob. 0.35 0.30 0.25 0.10
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NC/Day Prob. CP Period of CP
8 0.35 0.35 0.000 - 0.350
10 0.30 0.65 0.351 - 0.650
12 0.25 0.90 0.651 - 0.900
14 0.10 1.00 0.901 - 1.000
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NL/Customer Prob. CP Period of CP
4 0.40 0.40 0.000 - 0.400
8 0.30 0.70 0.401 - 0.700
12 0.20 0.90 0.701 - 0.900
16 0.10 1.00 0.901 - 1.000
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NC Ri(NL) NL
1 0.748 12
2 0.166 4
3 0.807 12
4 0.692 8
S 0.332 4
6 0.866 12
7 0.954 16
8 0.605 8
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NC Ri(NL) NL
1 0.796 12
2 0.191 4
3 0.326 4
4 0.761 12
5 0.232 4
6 0.767 12
7 0.898 12
8 0.498 8
9 0.594 8
10 0.918 16
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NC Ri(NL) NL
1 0.500 8
2 0.377 4
3 0.498 8
4 0.560 8
5 0.742 12
6 0.067 4
7 0.954 16
8 0.048 4
9 0.134 4
10 0.146 4
11 0.314 4
12 0.657 8
13 0.146 4
14 0.688 8
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NC Ri(NL) NL
1 0.102 4
2 0.353 4
3 0.739 12
4 0.279 8
5 0.496 8
6 0.471 8
7 0.215 4
8 0.785 12
9 0.923 16
10 0.011 4
11 0.531 8
12 0.812 12
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